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A water pipe was cut off by 2 meters for the first

time. In the second time, half of the remaining pipe

was cut off. Then, 5 meters are left. What is the

original length (meters) of the pipe?

A. 15
B. 12
,

C. 10
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There are 6 players participating in a table tennis
singles competition. Each player will compete
with all the other players. How many matches
will be held in total?

A. 10
B. 14

C. 15
@ D. 16 %
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3 In the following tangram, w
shapes can form a rectangle?
2
1 3]
UL
A. 1, 2, 6
B. 3, 4, 5
N C. 4, 5,6
D. 3, 5, 7
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There is a rope 48m long, which can enclose 6
squares of the same size. What is the area of each
square?

A. 4cm?
B. 80000cm?
C. 8m?
D. 4m?
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